RItLHRERERR (BRXD) ~LBHAERTR~

Epi29% 128 10H(¥E 2HH)

XA A X AdHE

Bt 53

2

T ARy —

53

1 H73RERAFTASHBEESR—E

e Re: A=) 18 8
T Hise Hoig e B B R
LEBRF 5 2 EHE.EHE
BERF 6 4 EHRE. EHE.EER.EFE




TARRY T —ak B2

(DEHF)
R
3 | 2 SR EE
® 1 | 13
12/3(8) @
47 0 10:25~ 2 4 12/3(8)
8:00~
12/2(%) 12/2(L)
15:50~ 13:25~
9 1 4
12/2(x)
11:00~
Bl Bl Bl /il Bl
F F F & 3 1] =
E E E E E f F
- £ = = =3 =
it {iL i {iL v
5 t = b=} =
E i E F W
b EHE bRl *t B
M 12828 (1) (RTEEESAL) (RTEEARL)
F183E (1 EE) 11:00~ igiA o) EEE
9 - 4
@ 12A28 (1) (RTEERE3L) (RTEEE24L)
EVESAE I 13:25~ EFE ) EHE
2 - 4
@ 12828 (1) (BTEE L) DDEE
FEIHE ERE) 15:50~ FHE it IpAS
47 - 0
@1283H(A) ©O) & QnkE
F1544 (BLIREH)| 8:00~ TipALS *t EFE
1 - 13
® 1283H(A) ©): = QniE
F2R G R 10:25~ FHE it =R
3 - 2




TARRY T —m B

(RREBF)
RBE SR TEE;
7 | 1 3 5
@
12/10(8) 12/10(8)
9 1 12:50~ 0 7 10:25~
4 w =
12/9(%) 12/9(%) E E‘f
15:50~ 18:15~ ) 5
0 1 19 12 0 i ”
12/9(%) 12/9(%)
11:00~ 13:25~ 54 R E &
i il ] ] Bl Bl 9 | 3
F F F F F F ®
E B E B E E 12/10(8)
- gl o = VAN = 8:00~
L2 Liv2 v 72 v L2
L £
' 1] b=} = i =) i H
& i F g H 7 ] [}
BB EE BHsR B xt B
M 12A98 (1) (RTEESAL) (RTEEA4LL)
F1HE (1 EE) 11:00~ A *t EFE
0 — 19
@ 12898(1) (RTEE3MI) (RTEE61I)
F2:E (1 [[EE) 13:25~ EER xt A
12 —
® 12A9A8 (1) (BTEE14L) DD E
FEIH A CERME) 15:50~ EHE »t BFE
9 —
@ 12898 (L) QniE (RTERE241)
FARE ERB) 18:15~ =EER xit =301
0 —_
® 128108 (A) D& Qn¥E
F15E (5LRTEEH) 8:00~ g xf fEE
9 -
® 128108 (H) ©O) & @nRE
F2R A (BHAIREEH)| 10:25~ EFE xf EER
3 -
@ 128108 (RA) ©): @nE
FEIHE GREE) 12:50~ EHE xt EiRE
7 -




